

GLOBAL ASYMPTOTIC STABILITY OF A SECOND ORDER RATIONAL DIFFERENCE EQUATION

R. ABO-ZEID

ABSTRACT. The aim of this paper is to investigate the global stability, periodic nature, oscillation and the boundedness of solutions of the difference equation

$$x_{n+1} = \frac{A + Bx_{n-1}}{C + Dx_n^2}, \quad n = 0, 1, 2, \dots$$

where A, B are nonnegative real numbers and $C, D > 0$.

AMS Mathematics Subject Classification : 39A11

Key words and phrases : Difference equation, periodic solution, globally asymptotically stable.

1. Introduction and Preliminaries

Difference equations, although their forms look very simple, it is extremely difficult to understand thoroughly the global behaviors of their solutions. One can refer to [5, 4]. The study of nonlinear rational difference equations of higher order is of paramount importance, since we still know so little about such equations. It is worthwhile to point out that although several approaches have been developed for finding the global character of difference equations [4, 6, 7], relatively a large number of difference equations have not been thoroughly understood yet [3, 8, 10].

C.H.Gibbons et al [2] investigated the global asymptotic behavior of the difference equation

$$x_{n+1} = \frac{\alpha + \beta x_{n-1}}{\gamma + x_n}, \quad n = 0, 1, 2, \dots \quad (1)$$

where $\beta > 0$ and $\alpha, \gamma \geq 0$.

In [5] the global asymptotic behavior of the difference equation

$$x_{n+1} = \frac{Ax_{n-1}}{B + Cx_n^2}, \quad n = 0, 1, 2, \dots$$

was discussed, where A, B, C are nonnegative real numbers and the initial conditions x_{-1}, x_0 are nonnegative real numbers.

In this paper, we study the global asymptotic stability of all solutions of the difference equation

$$x_{n+1} = \frac{A + Bx_{n-1}}{C + Dx_n^2}, \quad n = 0, 1, 2, \dots \quad (2)$$

where A, B are nonnegative real numbers and $C, D > 0$.

we give some preliminaries which will be needed in this paper.

Let I be a real interval and let $f : I \times I \rightarrow I$ be a continuous function. For every pair of initial conditions $\langle x_{-1}, x_0 \rangle \in I \times I$, the difference equation

$$x_{n+1} = f(x_n, x_{n-1}), \quad n = 0, 1, \dots \quad (3)$$

has a unique solution $\{x_n\}_{n=-1}^{\infty}$. An equilibrium point of equation (3) is a point $\bar{x} \in I$ with $\bar{x} = f(\bar{x}, \bar{x})$.

Definition 1.1. Let \bar{x} be an equilibrium point of equation (3).

- (1) \bar{x} is stable if for every $\epsilon > 0$, $\exists \delta > 0$ such that for any initial conditions $\langle x_{-1}, x_0 \rangle \in I \times I$ with $|x_{-1} - \bar{x}| + |x_0 - \bar{x}| < \delta$, $|x_n - \bar{x}| < \epsilon$ holds for $n = 1, 2, \dots$
- (2) \bar{x} is a local attractor if there exists $\gamma > 0$ such that $x_n \rightarrow \bar{x}$ holds for any initial conditions $\langle x_{-1}, x_0 \rangle \in I \times I$ with $|x_{-1} - \bar{x}| + |x_0 - \bar{x}| < \gamma$.
- (3) \bar{x} is locally asymptotically stable if it is stable and is a local attractor.
- (4) \bar{x} is a global attractor if $x_n \rightarrow \bar{x}$ holds for any $\langle x_{-1}, x_0 \rangle \in I \times I$.
- (5) \bar{x} is globally asymptotically stable if it is stable and is a global attractor.
- (6) \bar{x} is a repeller if there exists $\gamma > 0$ such that for each $\langle x_{-1}, x_0 \rangle \in I \times I$ with $|x_{-1} - \bar{x}| + |x_0 - \bar{x}| < \gamma$, there exists N such that $|x_N - \bar{x}| \geq \gamma$.
- (7) \bar{x} is a saddle point if it is neither a local attractor nor a repeller.

Assume that \bar{x} is an equilibrium point of equation (3). Let $r = \frac{\partial f(\bar{x}, \bar{x})}{\partial x_n}$ and $s = \frac{\partial f(\bar{x}, \bar{x})}{\partial x_{n-1}}$. Then the linearized equation associated with equation (3) about the equilibrium \bar{x} is

$$z_{n+1} - rz_n - sz_{n-1} = 0. \quad (4)$$

The characteristic equation associated with equation (4) is

$$\lambda^2 - r\lambda - s = 0. \quad (5)$$

Theorem 1.2. (*The linearized stability theorem* [6]).

- (1) If $|r| < 1 - s < 2$, then \bar{x} is locally asymptotically stable.
- (2) If $|r| < |1 - s|$ and $|s| > 1$, then \bar{x} is a repeller.
- (3) If $|r| > |1 - s|$ and $r^2 + 4s > 0$, then \bar{x} is a saddle point.

Now we give the definitions for the positive and negative semicycle of a solution of equation (3) relative to an equilibrium point \bar{x} .

Definition 1.3. [8] A positive semicycle of a solution $\{x_n\}_{n=-1}^{\infty}$ of equation (3) consists of a "string" of terms $\{x_l, x_{l+1}, \dots, x_m\}$, all greater than or equal to the equilibrium \bar{x} , with $l \geq -1$ and $m \leq \infty$ and such that

$$\text{either } l = -1, \quad \text{or } l > -1 \text{ and } x_{l-1} < \bar{x}$$

and

$$\text{either } m = \infty, \quad \text{or } m < \infty \text{ and } x_{m+1} < \bar{x}.$$

Definition 1.4.[8] A negative semicycle of a solution $\{x_n\}_{n=-1}^{\infty}$ of equation (3) consists of a "string" of terms $\{x_l, x_{l+1}, \dots, x_m\}$, all less than or equal to the equilibrium \bar{x} , with $l \geq -1$ and $m \leq \infty$ and such that

$$\text{either } l = -1, \quad \text{or } l > -1 \text{ and } x_{l-1} \geq \bar{x}$$

and

$$\text{either } m = \infty, \quad \text{or } m < \infty \text{ and } x_{m+1} \geq \bar{x}.$$

Theorem 1.5. [8] Assume that $f \in C[(0, \infty) \times (0, \infty), (0, \infty)]$ is such that: $f(x, y)$ is decreasing in x for each fixed y , and $f(x, y)$ is increasing in y for each fixed x . Let \bar{x} be a positive equilibrium of equation (3). Then except possibly for the first semicycle, every solution of equation (3) has semicycles of length one.

Theorem 1.5. [9] Let \bar{x} be an equilibrium point of the equation

$$x_{n+1} = f(x_n).$$

Suppose that $f \in C^3(\mathbb{R})$ and $f'(\bar{x}) = -1$.

- (1) If $-3(f''(\bar{x}))^2 - 2f'''(\bar{x}) < 0$, then \bar{x} is locally asymptotically stable.
- (2) If $-3(f''(\bar{x}))^2 - 2f'''(\bar{x}) > 0$, then \bar{x} is unstable.

2. Linearized stability analysis

Consider the difference equation

$$x_{n+1} = \frac{A + Bx_{n-1}}{C + Dx_n^2}, \quad n = 0, 1, 2, \dots$$

where A, B are nonnegative real numbers and $C, D > 0$. The change of variables $x_n = \sqrt{\frac{C}{D}}y_n$ reduces equation (2) to the difference equation

$$y_{n+1} = \frac{p + qy_{n-1}}{1 + y_n^2}, \quad n = 0, 1, 2, \dots \quad (6)$$

where $p = \frac{A}{C}\sqrt{\frac{D}{C}}, q = \frac{B}{C}$. Now we determine the equilibrium points of equation (6) and discuss their local asymptotic behavior. It is clear that the values of the equilibrium points depends on p and q .

The equilibrium points of equation (6) are the zeros of the function $f(y) = \bar{y}^3 + (1-q)\bar{y} - p$. When $q < 1$, then equation (6) has a unique equilibrium point \bar{y} , such that $\bar{y} > \sqrt{1-q}$ if $p > 2(1-q)^{\frac{3}{2}}$ and $0 < \bar{y} < \sqrt{1-q}$ if $p < 2(1-q)^{\frac{3}{2}}$. When $q > 1$, then equation (6) has a unique positive equilibrium point $\bar{y} > \sqrt{q-1}$ if

$p > 2\left(\frac{q-1}{3}\right)^{\frac{3}{2}}$ and three equilibrium points $\bar{y} > \sqrt{q-1}$, $-\sqrt{\frac{q-1}{3}} < \bar{y}_1 < 0$ and $-\sqrt{q-1} < \bar{y}_2 < -\sqrt{\frac{q-1}{3}}$ if $p < 2\left(\frac{q-1}{3}\right)^{\frac{3}{2}}$.

The linearized equation associated with equation (6) about \bar{y} is

$$z_{n+1} + \frac{2\bar{y}^2}{1+\bar{y}^2}z_n - \frac{q}{1+\bar{y}^2}z_{n-1} = 0 \quad , n = 0, 1, 2, \dots \quad (7)$$

The characteristic equation associated with this equation is

$$\lambda^2 + \frac{2\bar{y}^2}{1+\bar{y}^2}\lambda - \frac{q}{1+\bar{y}^2} = 0. \quad (8)$$

We summarize the results of this section in the following theorem.

Theorem 2.1.

- (1) Assume that $q < 1$ and let \bar{y} be the unique positive equilibrium point of equation (6). Then
 - (a) \bar{y} is locally asymptotically stable if $p < 2(1-q)^{\frac{3}{2}}$.
 - (b) \bar{y} is a saddle point if $p > 2(1-q)^{\frac{3}{2}}$.
 - (c) \bar{y} is nonhyperbolic point if $p = 2(1-q)^{\frac{3}{2}}$.
- (2) Assume that $q > 1$. Then
 - (a) The unique positive equilibrium point of equation (6) is a saddle point.
 - (b) If $p < 2\left(\frac{q-1}{3}\right)^{\frac{3}{2}}$, then \bar{y}_1 is a repeller and \bar{y}_2 is a saddle point.
 - (c) If $p = 2\left(\frac{q-1}{3}\right)^{\frac{3}{2}}$, then $\bar{y}_1 = \bar{y}_2 = -\sqrt{\frac{q-1}{3}}$ are unstable equilibrium points.

Proof. Let $r = -\frac{2\bar{y}^2}{1+\bar{y}^2}$ and $s = \frac{q}{1+\bar{y}^2}$.

- (1) Assume that $q < 1$ and let \bar{y} be the unique positive equilibrium point of equation (6). Then
 - (a) $|r| - (1-s) = \frac{2\bar{y}^2}{1+\bar{y}^2} - \left(1 - \frac{q}{1+\bar{y}^2}\right) = \frac{2\bar{y}^2}{1+\bar{y}^2} - \frac{1+\bar{y}^2-q}{1+\bar{y}^2} = \frac{\bar{y}^2-1+q}{1+\bar{y}^2} < 0$ when $p < 2(1-q)^{\frac{3}{2}}$.
 - (b) $|r| - |1-s| = \frac{2\bar{y}^2}{1+\bar{y}^2} - \frac{1+\bar{y}^2-q}{1+\bar{y}^2} = \frac{\bar{y}^2-1+q}{1+\bar{y}^2} > 0$ when $p > 2(1-q)^{\frac{3}{2}}$.
 - (c) It is easy to show that equation (7) has the root $\lambda = -1$ and other root with modulus less than one.
- (2) Assume that $q > 1$. Then
 - (a) $|r| - |1-s| = \frac{2\bar{y}^2}{1+\bar{y}^2} - \frac{1+\bar{y}^2-q}{1+\bar{y}^2} = \frac{\bar{y}^2-1+q}{1+\bar{y}^2} > 0$, since $\bar{y} > \sqrt{q-1}$ and $r^2 + 4s > 0$.
 - (b) It is clear that $|1-s| = \left|\frac{1+\bar{y}_1^2-q}{1+\bar{y}_1^2}\right| = \frac{1+\bar{y}_1^2-q}{1+\bar{y}_1^2}$, since $0 > \bar{y}_1 > -\sqrt{\frac{q-1}{3}} > -\sqrt{q-1}$. Then $|r| - |1-s| = \frac{\bar{y}_1^2}{1+\bar{y}_1^2} - \left(-\frac{1+\bar{y}_1^2-q}{1+\bar{y}_1^2}\right) = \frac{3\bar{y}_1^2+1-q}{1+\bar{y}_1^2} < 0$. Moreover, we have $|s| = \frac{q}{1+\bar{y}_1^2} > 1$.

Now for \bar{y}_2 , we have $|r| - |1 - s| = \frac{3\bar{y}_2^2 + 1 - q}{1 + \bar{y}_2^2} > 0$, since $\bar{y}_2 < -\sqrt{\frac{q-1}{3}}$. Moreover, we have $r^2 + 4s > 0$.

- (c) If $p = 2\left(\frac{q-1}{3}\right)^{\frac{3}{2}}$, then $\bar{y}_1 = \bar{y}_2 = -\sqrt{\frac{q-1}{3}}$. We can show that equation (8) with $\bar{y} = \bar{y}_1 = \bar{y}_2 = -\sqrt{\frac{q-1}{3}}$ has the root $\lambda = 1$ and other root with modulus greater than one.

The proof is complete in view of theorem (1). □

3. Periodic nature

Theorem 3.1. Equation (6) has the periodic solution $\dots, \varphi, \psi, \varphi, \psi, \dots$ where φ, ψ are the roots of the equation

$$t^2 + \frac{1}{q-1}t - q + 1 = 0$$

if either $q < 1$ and $p > 2(1-q)^{\frac{3}{2}}$ or $q > 1$.

Proof. Let $\{\dots, \varphi, \psi, \varphi, \psi, \dots\}$ be a periodic solution of equation (6) with $q < 1$. This implies that $\varphi = \frac{p+q\varphi}{1+\varphi^2}, \psi = \frac{p+q\psi}{1+\psi^2}$. Hence we have, $\varphi\psi = 1 - q$ and $\varphi + \psi = \frac{p}{1-q}$. Therefore, φ, ψ are the roots of the equation

$$t^2 + \frac{1}{q-1}t - q + 1 = 0.$$

Now consider the discriminant $L = \left(\frac{p}{1-q}\right)^2 - 4(1-q)$. It is clear that $L > 0$ if either $q > 1$ or $q < 1$ and $p > 2(1-q)^{\frac{3}{2}}$. □

4. Global behavior of equation (6)

Theorem 4.1. Assume that $q < 1$ and $p < 2(1-q)^{\frac{3}{2}}$. Then the positive equilibrium point $0 < \bar{y} < \sqrt{1-q}$ is globally asymptotically stable.

Proof. Let $\{y_n\}_{n=-1}^{\infty}$ be a solution of equation (6). Then

$$y_{n+1} = \frac{p + qy_{n-1}}{1 + y_n^2} < p + qy_{n-1}, \quad n = 0, 1, 2, \dots$$

Then there exists a real number $\beta > 0$ such that $y_n < \beta, n = -1, 0, 1, 2, \dots$

This implies that

$$y_{n+1} = \frac{p + qy_{n-1}}{1 + y_n^2} > \frac{p}{1 + \beta^2}.$$

Let $\lambda = \liminf y_n$ and $\Lambda = \limsup y_n$. Hence we have

$$\frac{p + q\lambda}{1 + \Lambda^2} \leq \lambda \leq \Lambda \leq \frac{p + q\Lambda}{1 + \lambda^2}.$$

This implies that $p + q\lambda \leq \lambda + \lambda\Lambda^2$ and $\Lambda + \Lambda\lambda^2 \leq p + q\Lambda$. Then

$$p\lambda + q\lambda^2 \leq \lambda^2 + \lambda^2\Lambda^2$$

and

$$\Lambda^2 + \Lambda^2 \lambda^2 \leq p\Lambda + q\Lambda^2.$$

Then we get that

$$p\lambda + \lambda^2(q-1) \leq p\Lambda + \Lambda^2(q-1)$$

or

$$\lambda^2(1-q) - p\lambda \geq \Lambda^2(1-q) - p\Lambda \quad (9)$$

Consider the function $g(x) = (1-q)x^2 - px$. As $p < 2(1-q)^{\frac{3}{2}}$, we have $g(\frac{p}{2(1-q)}) < 0$. That is $\frac{p}{2(1-q)} < \bar{y} < \sqrt{1-q}$, and $g(x)$ is increasing on $(\frac{p}{2(1-q)}, \infty)$. In view of equation (9), we have a contradiction. Therefore $\lambda = \Lambda = \bar{x}$. This completes the proof. \square

5. Semicycle analysis

Theorem 5.1. Let $\{y_n\}_{n=-1}^{\infty}$ be a nontrivial solution of equation (6) and let \bar{y} denote the unique positive equilibrium of equation (6) such that either,

(C₁) $y_{-1} < \bar{y} < y_0$ or

(C₂) $y_0 < \bar{y} < y_{-1}$.

is satisfied. Then $\{y_n\}_{n=-1}^{\infty}$ oscillates about \bar{y} with semicycles of length one.

Proof. The proof is a direct consequence using theorem (1). \square

6. case $q = 0$

When $q = 0$, equation (6) becomes

$$y_{n+1} = \frac{p}{1 + y_n^2}, \quad n = 0, 1, 2, \dots \quad (10)$$

It is clear that equation (10) has the unique positive equilibrium point $0 < \bar{y} < p$.

Theorem 6.1.

(1) If $p \leq 2$, then the equilibrium point \bar{y} is locally asymptotically stable.

(2) If $p > 2$, then the equilibrium point \bar{y} is unstable (saddle point).

Proof. It is sufficient to consider the linearized equation

$$z_{n+1} + \frac{2\bar{y}^2}{1 + \bar{y}^2} z_n = 0, \quad n = 0, 1, 2, \dots$$

and its associated characteristic equation

$$\lambda + \frac{2\bar{y}^2}{1 + \bar{y}^2} = 0.$$

It is easy to establish the proof if $p < 2$ and $p > 2$. When $p = 2$ we can apply theorem (1) and the result follows. \square

Theorem 6.2. The following statements are true:

- (1) The subsequences $\{y_{2n}\}_{n=0}^{\infty}$ and $\{y_{2n+1}\}_{n=0}^{\infty}$ are neither increase together nor decrease together. Moreover,
- (a) If $y_0 < \bar{y}$, Then $\{y_{2n}\}_{n=0}^{\infty}$ increases and $\{y_{2n+1}\}_{n=0}^{\infty}$ decreases.
- (b) If $y_0 > \bar{y}$, Then $\{y_{2n}\}_{n=0}^{\infty}$ decreases and $\{y_{2n+1}\}_{n=0}^{\infty}$ increases.
- (2) Assume that $p < 2$. Then the equilibrium point \bar{y} is globally asymptotically stable.
- (3) Assume that $p > 2$. Then equation (10) has the unique periodic solution $\{\dots, \varphi, \psi, \varphi, \psi, \dots\}$, where φ, ψ are the roots of the equation
- $$t^2 - pt + 1 = 0.$$
- (4) Every solution of equation (10) oscillates about \bar{y} with semicycles of length one.

Proof. (1) The result follows from the equality

$$y_{2n+3} - y_{2n+1} = -\frac{p(y_{2n+2} + y_{2n})}{(1 + y_{2n}^2)(1 + y_{2n+2}^2)}(y_{2n+2} - y_{2n}).$$

The proof of (2), (3) and (4) are easy to establish and will be omitted. \square

Acknowledgments

Many thanks to Dr. Alaa E. Hamza for his help and support.

REFERENCES

1. R.P. Agarwal, *Difference equations and inequalities, First edition*, Marcel Dekker, (1992).
2. C.H.Gibbons, M.R.S.Kulenović and G.Ladas, On the recursive sequence $x_{n+1} = \frac{\alpha + \beta x_{n-1}}{\gamma + x_n}$, *Math.Sci.Res.Hot-Line 4* (2) (2000) 1-11.
3. E.A. Grove and G. Ladas, *Periodicities in Nonlinear Difference Equations*, Chapman and Hall/CRC, 2005.
4. V. L. Kocic, G. Ladas, *Global Behavior of Nonlinear Difference Equations of Higher Order with applications*, Kluwer Academic, Dordrecht, 1993.
5. A.E. Hamza, R. Khalaf-Allah, Dynamics of a second order rational difference equation, *BAMS*, 23 (1), (2008) Golden Jubilee Year Volume, 206-214.
6. V.L. Kocic, G. Ladas, Global attractivity in a second order nonlinear difference equations, *J. Math. Anal. Appl.*, 180 (1993) 144-150.
7. M.R.S. Kulenovic, G. Ladas, N.P. Prokup, A rational difference equation, *Comput. Math. Appl.*, 41 (2001) 671-678.
8. M.R.S. Kulenović and G. Ladas, *Dynamics of second order rational Difference Equations; With Open Problems and Conjectures*, Chapman and Hall/HRC Boca Raton, 2002.
9. R.E.Mickens, *Difference Equations, Theory and Applications 2nd Edition*, Van Nostrand Renhold, 1990.
10. H. Sedaghat, *Nonlinear Difference Equations, Theory and Applications to Social Science Models*, Kluwer Academic Publishers, Dordrecht, 2003.

R. Abo-Zeid received his Bsc from Ein-Shams University and Msc at Helwan University under the direction of N. Fareid together with Zeinab Abd El-Kader. His Ph.D also at Helwan University under the direction of Alaa E. Hamza together with Adel El-Tohamy. Since 2007 He has been at Quassim University for one year and then O6 University. His research interests focus on the qualitative behavior of solutions of the difference equations.

Department of Basic Science, faculty of Engineering, October 6 university, 6th of October
Governorate, Egypt.

e-mail: abuzead73@yahoo.com